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Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(i) ¥EH T F TN YT %1 FHEIR 0F G BT Ford |

Solve all parts of a question consecutively together.
(iii) ¥4 797 1 74 98 8 IRE Fod |

Start each question on fresh page.
(v) §H1 yTaT3Tl & 31 813 ) IRfa F it srgare & wrwr @ 1

Only English version is valid in case of difference in both the languages.

TR (F) IR TR ? 7 YoBIE AR i T 5 wionfva Hif |
What is the burst error ? Define the length of burst error.

Rfesh wd g USfT Sraarun § 3= wargd |

Differentiate the static and dynamic routing algorithm.

GEAHITH AT Sgeehiicrs Heol i = qa1gd |

Write differences between synchronous and asynchronous transmission.

& WIEen fageht Midwia 15 foe f Rash wgaa wedt B, @ g de &
gfonfia S & g fea fae 6 savgsar 2 ?

A sliding window protocol uses a window of 15-bits. How many bits are needed
to define the sequence number ?

4. 9. 0. W, Wed o 11 E= Higd HiS 9413 |

Write three common modes of data transmission provided by HDLC. (2x5)
(1 of 4) P.T.O.
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Describe any two unguided transmission media used for data communications. (3+3)
et qu fefree St Haw i wmeEe |

Explain the analog and digital data transmission. (3+3)

ST (Srdrerlt) wfeafa s ot gui i | saeh Tor T e o frfed )

Explain the mesh topology in detail. Also write its advantages and
disadvantages. 2+2+2)

WIHER FAAET qoh1% 51 90 HIRA | 369 25ar & e =ivs yw A |

Explain the slotted ALOHA technique and find out the expression for its
efficiency. (3+3)

10110011 821 % ford I 111 & 7o Wik 1001 B, 71 31 § A 3R R 7 G
IERIRI rak o

For 10110011 data, the remainder is 111 and divisor is 1001, is there an error in

the data ? What is the transmitted data ? , )]
AT Tren = Tt qer e fafled |
Write the advantages and disadvantages of flooding concept. )]

Hper e ) e awon - arggd | dperm Ja i Rt Aifte 9 Ry

Explain the basic concept of congestion control. Write the various policies of
congestion prevention.

faftr feafam qefiel it gom HIfk |
Compare different switching techniques. (6x2)

318,74 €., % B, D U6 H e o 3T amanait o sl % STem W ansnsy |
Explain the B, D and H channels of ISDN on the basis of their capabilities and
purposes. (2+2+2)
01 TR % STeT HteT Y IgTeRw wike qensy
Explain the following types of data transmission with examples :
(a) Rewiww

Simplex
®) IS g

Half Duplex
© g

Full Duplex (2+2+2)
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What is internet working ? Discuss about the various internet working devices.

(i) Vs 3R sEAfe &9 (LANs) & F1 3<w ® 7 RieF o, sfies o faeh

AR AR ?
What are the differences between static and dynamic LAN ? Why static LANs are
not as popular as dynamic LANs ? (6x2)

8. Tl fiondl @ w wfw fewforar farfed -
Write short notes on any two of the following :
() #Hwwmuw.u-HdH
CSMA-CD
(ii) TCP/IP ey nigd
TCP/IP Reference Model
(i) ISO-OSI Hex "isa
1SO-OSI reference model (6x2)
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